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Answer all questions.  Point values (total = 80) are indicated in parentheses.

1. Economic policy analysis frequently begins with considerations of economic efficiency. 

     Under certain conditions (e.g., no externalities), a market whose price and total output 

      conform to 


Price = marginal cost 

is one in which resources are allocated efficiently.  Explain in words what this equality (and each side of the equation) mean and, therefore, in what sense this market result is "efficient."  (Note: this has nothing to do with the magnitude of profits or considerations of "fairness.")  Then tell why purely competitive markets yield efficient outcomes.  (8)  

Resources are allocated efficiently if there is no reallocation of resources from one industry (market) to another that will increase consumer welfare.  The competitive outcome P = MC is efficient because

1.  Price represents the worth of one more unit to the consumer.

2.  Marginal cost represents the cost of one more unit to the producer.  It is the cost the producer must pay for the resources used to produce that additional unit.  
The producer must compete in resource markets against producers of other goods who also want the resources to produce for their customers.  Thus, it really represents

           the value consumers attach to the resources in their alternative uses.

If P > MC, resources are worth more to consumers at the margin in this market than they would be if they would be in other uses, and consumer welfare would be  increased by increasing production and sale of the good.  If P < MC, resources are worth less to consumers at the margin in this market than they would be in other uses, and consumer welfare would be increased by decreasing production and sale of this good.

Now, purely competitive sellers are price takers, for which (constant) price equals marginal revenue.  Therefore, they respond to any price, including the market price, by producing the output at which P = MC exactly.

And what is it about monopoly pricing and output decisions that undermines this kind of efficiency?  (5)

Under monopoly, the seller faces the market demand curve, which is downward-sloping, so that MR < P.  Maximizing profits at the output where MR = MC necessarily results in a higher price and lower output than the consumer-welfare-maximizing output where

P = MC.  Thus, monopoly is associated with chronic under-production of any monopolized good or service.

2.  A couple of years ago, an executive at Great Lakes Chemical Corp. became a

    “whistleblower,”  and reported potentially illegal activities in the bromine industry to the

     Justice Department (Wall Street Journal, 6/16/99).  These activities, if proven, offend

     against Sec.  1  of the  Sherman Act, and in the words of the

     statute are called   restraint of trade. (5)

a.   [CORRECTED]  What features of this industry make it something of a “natural” for price-fixing or for supporting activities? (5)

The main thing is that the industry is highly concentrated; the three largest sellers have between them 83% of the industry’s output.  It also appears that the product is non-differentiated, which means that except for the joint ventures, there are no other ways of competing, making price cuts highly visible and dangerous.  With so much information out there, the only wonder is why explicit inter-company communication—a step over the line to illegality—is required by the sellers to keep competition to a low level.  What’s more, there are several joint ventures in bromine-using industries.  While not directly in the market for bromine sales, they can be useful in providing information that allows their bromine-producing parents to monitor each other’s output.

       b.  Assuming that it suspected illegal activity (Bruce has no knowledge of charges

            actually being brought), what facts would have to be secured to lead a trial court

      to find the participants guilty?  (3)

Only evidence that there was explicit agreement.  Best is direct written or electronic evidence from which the trier of fact could infer that something more than independent, self-interested behavior was involved.  Also records of meetings at which prices and production were simply discussed would be helpful.  To infer agreement from entirely circumstantial evidence would require that the participants’ common behavior pattern was contrary to the strong self interest of any of them individually.

c. What might a court order (as a civil remedy) if price-fixing or similar charges cannot

be proven and if breaking up one or more chemical companies isn’t a realistic 

possibility?  (2)


Require that the joint ventures be dissolved.  This will eliminate some information 


transfers that could be anticompetitive.

3. In one of the most newsworthy (and, it turns out, successful) merger attempts of the 

last few years, Pepsico announced that that it had agreed to buy the troubled Quaker 

Oats Co.  The motivation—and the cause for much speculation and concern—was that 

Pepsi wanted Quaker’s successful Gatorade line.   Last summer (New York Times, 

8/2/01), the Federal Trade Commission effectively cleared the acquisition by terminating

its investigation.  Such an investigation would have determined whether the merger

offended against Sec.  7  of the  Clayton  Act, whose statutory language 

forbids acquisitions that may substantially lessen competition or tend to create a

 monopoly  (5)  While it’s tempting to attribute the decision to personal or political

 happenstance, this question asks you to probe the legal case on both sides.

a.  What are the most compelling arguments (supported by available case law) that you

     would employ to condemn the merger?  (7)


The most important argument is that markets for (cold, non-alcoholic?) drinks


are already extremely concentrated.  In the market represented by convenience


stores, Pepsi drinks have a 32% share, larger even than Coca-Cola.  The 

acquisition adds significant share to Pepsico’s brand portfolio, and eliminates 

any previously existing competition between Pepsi brands and Quaker’s

Gatorade.  This is a big horizontal merger in a concentrated industry—illegal! 

b.  What are the most compelling arguments (supported by available case law) that you 

     would employ to allow the merger?  (7)


Huh?  WHAT competition between Gatorade—admittedly dominant in its


product category—and Pepsi soft drinks?  These are two distinct beverage 


groups, catering to different customers, or at least different kinds of thirst.


There is not one relevant market but two, and neither Pepsi nor Gatorade 

 
competes in the others.  You can’t eliminate or reduce competition where none


exists.  


[Note on some of the submitted answers.  It is not relevant that Gatorade is only


part of the Quaker enterprise.  ANY competition which is eliminated must past


a Section 7 review.  The fact that Pepsi’s rival, Coca-Cola, has a major market


(dominant in other segments of soft-drinks) is important if and only if it’s used to


argue that markets  will still be competitive.  A few too many answers (perhaps


unduly influenced by the supporting article) thought it an antitrust worry that 


Coke products would be unable to compete with Pepsi’s.  Protection of specific


competitors has not been part of the antitrust agenda for three decades, and

 
 protecting a firm as big as Coke has never influenced any case I can remember.]
HINT:  You need not cite any actual cases, but you need to know how merger law

and enforcement work.  You are encouraged to think about what “the relevant market”

is or should be.

4.  Two articles in the article package describe the beginning and end of the antitrust trial of

      Visa, Master Card, and their governing boards (N Y Times, 6/13/2000 and WSJ,
      10/10/01).  It is possible to view this case in one of several ways.  Principally, this

       question asks you to view it as unlawful monopolization, which violates 

        Sec.   2   of the    Sherman    Act.  (3)   One fact which is relevant to this

        question is that neither Visa nor Master Card forbid the banks that carry its card to 

        offer the other’s card; what is forbidden is for the bank to offer a “third” card, such as

        Discover or American Express.  What must the government show to establish the 

        existence of a violation?  And since it was successful, what facts in the articles must

        have helped it make its case?  (14)

This facet of the case reflects what the government must show: power to exclude,

and its intentional use.  The rules are cleverly—and apparently cooperatively—designed to allow the co-existence of the two competitors, but to deny any other firms a chance to use the banks that issue Visa and Master Card.  The fact of exclusion is shown by the existence of the rule forbidding “outside” cards, and by the fact that Discover and American Express are extremely vocal in complaining about its effect.  What is lacking in the facts as given [although the fact is well known and almost certainly was cited at trial] is data on the defendant’s individual market shares.  [They are overwhelmingly large, and the market is highly concentrated.]  If these are in fact extremely large, both the power to exclude and the effects of its use are amply demonstrated.


Model answers to the remaining questions have not been formulated and are


not yet   (Monday, November 05, 2001, 11:00. a.m.)  available for posting.


When they have been completed, they will be added to the Web site.

5.  It is possible to consider the governance structure and policies of Visa and Master Card

   as a clever (though illegal) arrangement to reduce competition between these two card

     systems.  Explain.  (3)

ANSWER QUESTION 6 OR QUESTION 7.  CHECK OR CIRCLE THE NUMBER OF THE 

QUESTION YOU HAVE ANSWERED.

6.  Last year, the FTC agreed to drop an investigation of marketing arrangements used by 

     music companies (NY Times, 5/11/2000).  Are these a horizontal or vertical restraint of 

     trade?  Why?  What is their usual legal treatment, and how does it “fit” existing case

     law?  Why was the Sherman Act not involved, and under which statute did the FTC

     conduct its investigation?  (10)

7.  Suppose that credit-card system services are a “commodity” within the meaning of

     the Clayton Act.  (See QQ 4 and 5, above.)  What would the Justice Department have to

     show in order to claim that the facts of the Visa/Master Card case establish the 

     existence of unlawful exclusive dealing?
